


The following combination graph shows the 
details of the percentage of the students 
passed (out of the total students 
appeared), percentage of the boys 
passed (out of the total boys appeared) 
and the percentage of the girls failed (out 
of the total girls appeared) in an exam
conducted in six different institutions.
निम्लिखित संयुक्त आरेि में छ: अिग अिग 
संस्थाओं में आयोम्ित एक परीक्षा में उत्तीर्ण 
विद्यार्थणयों (सम्लमलित कुि विद्यार्थणयों में से); 
उत्तीर्ण छात्र (सम्लमलित कुि छात्र में से) और 
अिुत्तीर्ण छात्राओं (सम्लमलित कुि छात्राओं में से) 
का प्रनतशत का वििरर् दिया गया है. 

74
70 60 65

78

54
80

65 65
50

90

45

30 28

50

30 30
40

0

20

40

60

80

100

0

20

40

60

80

100

A B C D E F

% Passed Students % Passed Boys % Failed Girls



In the institute E; find the respective ratio of 
the number of the boys and the number of 
the girls appeared in the exam.
संस्था E में; परीक्षा में सम्लमलित छात्रों तथा 
सम्लमलित छात्राओं का क्रमश: अिुपात ज्ञात 
कीम्िये.
1. 2:3 2. 3:2 3. 1:2 4. 2:1       5. 
Cannot be Determined
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In the institute E; find the respective ratio of 
the number of the boys and the number of 
the girls appeared in the exam.
संस्था E में; परीक्षा में सम्लमलित छात्रों तथा 
सम्लमलित छात्राओं का क्रमश: अिुपात ज्ञात 
कीम्िये.
1. 2:3 2. 3:2 3. 1:2 4. 2:1       5. 
Cannot be Determined
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In the institution A; find the respective ratio 
of the number of the passed boys and the 
number of the passed girls in the exam.
संस्था A में; परीक्षा में उत्तीर्ण छात्रों तथा उत्तीर्ण 
छात्राओं का क्रमश: अिुपात ज्ञात कीम्िये.
1. 2:3 2. 3:2 3. 1:2 4. None       5. 
Cannot be Determined
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If in the institute B; 3900 boys passed the 
exam; find the number of the girls who are 
not qualified the exam.
यदि संस्था B में; 3900 छात्र उत्तीर्ण हुए हो तो 
परीक्षा में अिुत्तीर्ण छात्राओं की संख्या ज्ञात कीम्िये.
1. 4000 2. 4200 3. 4500 4. Cannot be 
Determined      5. None
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The number of the failed boys in the exam 
in the institute C is what percent more than 
the number of the girls failed.
संस्था C में अिुत्तीर्ण छात्रों की संख्या अिुत्तीर्ण 
छात्राओं की संख्या से ककतिा प्रनतशत अर्िक है?
1. 20% 2. 33.33% 3. 66.67% 4. 
40%       5. 30%

74
70 60 65

78

54
80

65 65
50

90

45

30 28

50

30 30
40

0

20

40

60

80

100

0

20

40

60

80

100

A B C D E F

% Passed Students % Passed Boys % Failed Girls



The number of the students appeared in 
the institute B is 60% more than the number 
of the students appeared in A. The number 
of the girls appeared in the institute B is 
what percent more than the number of the 
girls appeared in the institute A?
संस्था B में सम्लमलित विद्यार्थणयों कक संख्या 
संस्था A में सम्लमलित विद्यार्थणयों कक संख्या से 
60% अर्िक है. संस्था B में सम्लमलित छात्राओं की 
संख्या संस्था A में सम्लमलित छात्राओं की संख्या 
से ककतिा प्रनतशत अर्िक है?
1. 66.67% 2. 33.33% 3. 16.67%
4. None of these       5. CND
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